OSmE--- S NS EHERS RS 3‘,“;"‘-

AT, Bk SRS MRAR

8. AU Sx=6y(r, y AN 0), Wx My (bl #,=

BES s, T, ER, SRR
Bl ST, AIEESHRAE

ST XIENE
S, B3, 7, 08, 10 A 14, HA®S 2 4, $L27

%)

. INQIEFZE S WS It SEBOE S B 3R

BHNBUN | 4 6 8 12
RN 12 8 6 4
R HRH R 1 )F( ) ( EH
( AT AL, ( Y E [, DRI AR AN B2

B R/ 1E
CWRA y N x FORBERAE ORI R, H kRN eI EE(E),

1E EEB 9% 28 AT BRI 72 4 ( )o
R R 4 mm, EELREK 12 om, IR B4R LLB
JUE( )o

. L APRERILE SR 3 05, HEUE 24, B ZPREIRIRTZ( )o
. TE50m FEHIR, BFRIFIGERE R )EeH.
N0 BRI S EREIBRC ).

7%=c(a, b REETF0), H4( )— W, ( YFA( VR

EEfl; =a( )R, ( VRA( YRIE B

’

N
< [w

M) x A1y Bl( Vb

9. HHJEI—%€, FLRIATIS EERC sl

Gy

o

)




mE= %I&%E&%ﬂym7-wfi
L e
S TH, HEREESHERE m?z,i

10, FRIEE LRI 5, IR Z B LB Ok SRR . (AL

cm)

S 25.12 12.56 6.28

h 12 6 3

T I, BRSO L, S 4)

1. AR B A B AN 2 AL POl A R B A C )
2. (HRARD) WA —E, BN B R ESSRaE e El. ()
3. fRNE—xE, SERU SN RO . C )
4. AR, 15 AT AR AR, B LRI T AR S R s el ()

IR a A b BUELEH, b A e B LeB], R4 a B e — e B L
C )
=L EFE. (B IETE R RBRASE S B)(EE 2 75, 310 43)
1. BUECEI RIS AR, BT A,
A. M B. % C. D. HfH
2. FEH, FoRIEHHI5 R ESR(

N

W

D
3.@@2&%%,%Z$ﬁﬂlﬁ( )
A. BUEEEH B. Jl S EEH
C. Akt
4. THIRRAH, RN a b RUREBIRRIRZC ).
A. a—b=5 B. a+bh=5

BES s, T, ER, SRR
Bl ST, AIEESHRAE




OSRG-S NHEHERSHS g
ST, DRSS HEAR

a 5
C7:5 D. — =
b a=,
5.5y AEAURECBIIRC )
A. 43 B 3:4
C.l -3 D.l : 1
4 4°3
U, fiEtbsil. (12 43)
2709 11
T A X .2 =
X 10 2 25
0. 4:65=x:26 x+7_7
6 2.1

T fRUAE, (1RES5 5y, 2, 6 RS 64y, 594y, HARS
10 73, 4L 46 73)
1. —FhAs K, FEFKTZ 10250 f)5 & HO L& ZEHECH

753 g IXFEIIEK, TR B AIK S 2D T0?

A E]
SRS hE, b, ER, SR

"

SRS ST, BIEKEESHELE



OSmK--- S HEHERSHS g
BT, BTHEESRAR

2. TELEBI R 1125000000 Fr A E 3K E A5 A0 5 2 b E B 2
42 cmo —H/NEMICTE IR FERERHT 105 km, ML 3] Bl

TEL D

3. RAHEMNRES BN TR, RAERTEIE, w5 IoER
2w, FE[EIE ]

JFi & /kg 01|23 |4|5|6] 7|8

ST 03|69 1215|1821 |24

SO0
24
21
18
15
12
9
6
3
0
123456789 fikkke
(1) B4 A7 R 1 A S ), KA LU A 3 1 % T
( )o

QFEFHIHAER(  HHBHIKR.
()2, O)FRIMEE( kg EEME(  )t.

(4)FKZIWAE T 45 U TIX R b, 3SR 7 ( kgo

Q)
I‘A;f", K

SIS (T, AEEESEAE



SAL- SRS EAERSRS SR

Eﬁ?ﬁ BT EE S R AR -ﬂ‘ﬁ

4. —FEU 3T —HEE TS, SRR B BRI E VT B E) G R 26
FEETRETVT ) MU 200 | 240 | 300 | 400

T VT IS [A] /i 24 20 16 12

(1) BRI DT R W ORT 2 1T IS ) oAt 4 Ee s 2 D42

Q)an eI LR 1A], ZESR 8 BT 58, A EAEIT 202

IR R AL, AR R T AR P T A IR R R

FHHAE A /m? | 0.16 0.4 0.5
P i f R By | 300 120
(AR B B R RAE R R T

(2)FF Lt % [ TR 5 BT 75 MR (KIS A4 K R 2

()R] 80 BRdthurle W i 1 8] Jo= 15 SRBT A g bt e f 1 X

., i, ER, BRI
_;i}i'=:‘.<__ AT, BEEESMEER




QSR SENFEHERSES  hit
ST, AEREESRERR

6.ﬁ\$%%ﬁﬂ%2ﬂ”ﬁﬁﬁﬂ%ﬁ%ﬁ@k$%ﬁ,ﬁ\¢

PIUCRIRTEL RS 3 0 2, PRI R 70 30l 3 22 /D THCORE?

4 — .
e NE, Fih, BR, &R

RS ST, ITREESREAE



OSmK--- S HEHERSHS g
1T, BAREESHRRE

BE

—. LN A A BANE 2AF X
2. yx=k(—E) 330:1 464 5% 6%

7.a b ¢ ¢ a bEJGEZANZTHIKIE: b a o
8. I Jx 9.1E

10. 24 50.24 48 100.48

T 1x 24 3.x 4x 54

=.1D 2B 3A 4D 5A

g, x=30 x=0.1 x=1.6 x=13

Fi. 1.753x =3(g)

14250
753—3=750(g)

% HWEE3g, K750 g

2. 4.2:%: 105000000(cm)= 1050 km
25000000
1050+105=10(1})
% MAb 3] Bl EEE 10 B,
3.
B
24
21
18
15
12
9
6
3
0

123456789 fikd/kg

4 1 — -
oy 0%, Fih, B, BRI

ShaRe ST, EONEESMEAR



OSmK--- S HEHERSHS g
BT, BTHEESRAR

(D3 #fr QI (3)2 6 )15
4. (HEU LB
PRI BRI 53T (R MBSO« T R s 8] = 3 4tk 45 RS (— 7€)

Q) BeREI ZEEET x .

200%24=8x

x=600

% BN EELT 600 .
5. (1)96
(2) R SR 1) T AR 55 P 7 M B R S LA
(3)300x0.16-80=0.6(m?)

% BT YRS K AR 2 0.6 m?.

3
3+2

6. 2.5x——=15(L)

1.5+[1 _411]:2(L)
2.5—2=0.5(L)

B KRS 2 L YCBE /MILEREE 0.5 L YOk}

BES s, T, ER, SRR

by 1 ‘
LIS T, RS R





